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PHYSICS SSC-i
SECTION — A (Marks 12)

[Version Number [2]0 7 |2 |

(i)

(if)

V)

(vi)

(vii)

(Vifi)

(x)

(x)

(xi)

(xii)

" NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

Two resistors of 20Q each are connected in parallel with a battery of 10¥. The total current passing

through the circuit is:
A 14 . B. 24 C. 44 D. 34

Two charged spheres are separated by 2mm . Which of the following pairs would have the highest

attractive force?

A, +2g and -2g B. +1g and +4g C. ~lg and —4g D. +2g and +2q
What is the power rating of a lamp connected to a 12V source when it carries 2.547

A 60W B. 4.8W C. 14.5W D. 3o

Which part of a D.C motor reverses the direction of current through the coil every half cycle?

A The slip rings B. The armature

C. The commutator D. The brushes

The process by which electrons are emitted by a hot metal surface is known as:

A Thermionic emission B. Boiling

C. Evaporation D. Conduction

Acconverging mirror with a radius of 20cm creates areal image 30cm from the mirror. What is the

object distance?
A —20cm B. —5.0cm C. —1.5¢m . D. —15¢cm

If the length of the simple pendulum is halved its new time period 7" will become:

T T
A. 2T B. ll C. . D. 2T
2 N

The half-life of a certain isctope is 1day. What would be the quantity of the isotope left after 2 days?
A Double B. One half C. One quarter  D. One eighth

The loudness of a sound is most closely related to its:
A Amplitude B. Frequency C. Period b. Wavelength
Which is the most suitable means of reliable continuous communication between an orbiting satellite

and Earth?

A. Any light wave B. Microwaves C. Radio waves D. Sound waves

What happens to the atomic number of an elernent which emits one alpha particle and a beta particle’?
A Decreases by 1 B. increases by 1

C. Stays the same D. Decreases by 2

A totally reflecting prism has one of its angle equal to 90° and the remaining two angles are equal to:

A. 45° and 60° B. 30° and 45° C. 45° and 45° D. 30° and 60°
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‘Time allowed: 2:40 Hours

PHYSICS SSCII J 7%

Total Marks Sections B and C; 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and fegibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)

(i) Distinguish between longitudinal and transverse waves with suitable examples.

(i) What is the difference between loudness and Intensity of sound? Derive relationship between these
two?

(iii) What is meant by the principal focus of a (A) convex lens (B) a& concave lens? lllustrate your answer
with ray diagrams.

(iv) Show that potential difference can be descnbed as energy transferred per unit charge between the two

‘ pomts.

(V) Explain the energy dissipation in a resistance. What is Joule’s Law?

{vi) State and explain the rule by which the direction of the lines of force of the magnetic field around a
current carfying conductor can be determined.

{vii) Write down some benefits of using digital electronics over analogue electronics.

(vii)  Name different information storage devices and describe their uses.

(x)  Write the alpha decay process for o, Pa™ (Protactinium). Identify the parent and daughter nuclei in this
decay. 7 '

{x) Find the time periods {7, and 7, ') of a simple pendutum of 1 meter length, placed on earth and moon.
If g, = gﬁe (Take g, =10ms ™)

{xi) What are the units of loudness? Why do we use logarithmic scale to describe the range of the sound
intensities we hear?

(xii) When an objectis placed beyond 2F in front of a convergirg lens, then at what position its image is
formed? Whether image is real and inverted or virtual and erect, magnified or diminished. Draw a ray
diagram to show its image formation.

(xii)  An electrified rod attracts pieces of paper. After a white these pieces fly away. Why?

(xiv) By applying a potential difference of 10/ across a conductor a current of 1.54 passes through it. How
much energy would be obtained from the currentin 2 minutes?

(xv) Demonstrate by an expenment that a magnetic field is produced around a straight current carrymg

' conductor.
SECTION — C (Marks 20} ‘

Note: Attempt any TWO questions. All questions carry equal marks. , (2 x 10 = 20)

Q.3 a Explain defects of vision and their correction both with diagrams. {(3+3)

b. What do you know about transmission of light signals through optical fibres? Explain it with a
diagram. (3+1) -

Q.4 a Exptlain combination of capacitors in series and in parallel with diagrams. Also find an expressicn

for their equivalent capacitances (C,, ) . (3+3)

b. A mass of 50g is attached with one end of a spring of spring constant 10 Nm™', whose other

end is tied with a wall. Find the period and frequency of its oscillations. (2+2)

Q.5 a Explain Half Life of a radioactive element with graph and decay equation. Also clarify the terms
parent element and daughter element. (06)
b. What do you know about NAND Gate and NOR Gate. Draw their crrcult diagrams, symbols and 2+2)

truth tables. Give Boolean equations for each.

—_25A1907 (1)
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PHYSICS SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes [Version Number [ 207 |6 |

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i)

(i)

(ifi)

(iv)

)

(vi)

(vii)

(vifi)

(ix)

(xi)

(xii)

Two capacitors of 20uF each are connected in series with a battery of 10V . The total charge passing

through the circuit is: -
A 400uc B. 100uc C. 200uc D. 300uc

Five joules of work is needed to shift 10C charge from one place to another. The potential difference

between the places is:
A 10V B. 0.5V C. 2V D. 3V

The combined resistance of two identical resistors, connected in series is 8. Their combined
resistance in a parallel arrangement will be:

A. 12Q B. 20 C. 40 D. 8

The direction of induced e.m.f in a circuit is in accordance with the law of conservation of:

A Energy B. Mass . C. Charge D. Momentum
The output of a NAND gate is 0 when:

A Any of its inputs is 1 B. Both of its inputs are 0

C.  Bothofits inputs are 1 D. Any of its inputs is 0

An object is14cm in front of a convex mirror. The image is 5.8cm behind the mirror. The focal len gth

of the mirror is:

A ~20cm B. —4. lem C. —8.2cm D. —9.9¢cm
If the [ength of a Simple Pendulum is doubled, then its new frequency f' becomes:
f f
A. a B. 2f C. 2f. D. "
The half-life of Krypton is 3 minutes. Out of 100g of Krypton, how much will be left after 9 minutes?
A 50g B. 6.25¢g C. 12.5g D. 25g
The magnitude of the sensation produced on the ear by a sound is called its:
A. Quality B. Loudness C. Intensity D. Pitch
Magnetic tape of the cassette is moved through the head of the audio cassette recorder which is in fact:
A. An amplifier B. A magnet
C. An electromagnet D. A transmitter
How is energy from the sun released?
A Chemical reaction B. - Nuclear fission
C. Nuclear fusion D. Burning of gases

A ray of light passing through air with speed 3 %108 ms~ enters into glass of refractive index 1.52, it's

speed in glass will be:
A. 22x10%ms™  B. 3x108ms™! C. 1.5x10%ms™  D. 1.97x10%ms™

For Examiner’s use only:

Total Marks: ‘

Marks Obtained:
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Time allowed: 2:40 Hours

PHYSICS SSC-II 7 Y

Total Marks Sections B and C: 53

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

NOTE:
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.
SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3= 33)
(1) Derive a relationship between speed, frequency and wavelength of a wave. Write a formula for’ sheed
of a wave to its time period and wavelength. '
{ii) If the pitch of sound is increased, what are the changes in the following:
a) Frequency
b) Wave length
c) The amplitude of the wave
(iii) With the help of a ray diagram, how can you show the use of thin converging lens as a magnifying
glass?
(iv) With the help of electroscope how can you find presence of charge on a body?
(V) Define kilo Watt hour (kWh) and prove that 1kWh=3.6 MJ .
{vi) What are the factors which affect the magnitude of the e.m.f induced in a circuit by a changing magnetic
field? _
(vii) What are the three universal Logic Gates? Give their symbols and truth tables.
(viii)  What are the components of information technology? Clearly indicate a function of any three cimponents.
{ix} Complete the given nuclear reaction; does this reaction involve fission of fusion? Justify your answer.
QU™ s X4 2 4 27
{x) The time period of simple Pendulum is 2s. What will be its length on earth (/,) ? What will be its length
on the moon (Z,)) if g, =§§"7 (Take g, =10ms™ )
{xi) If at Anarkali bazar Lahore; the sound levelis 80db , what will be the intensity level of sound there?
(xii) When an object is placed between F and 2F infrontofa converging lens, then at what position its
image is formed? Whether image is real and inverted or virtua! and erect, magnified or diminished.
Draw a ray diagramto show #s image formation.
(xiiy  How does electrostatic induction differ from charging by friction?
(xiv) A current of 3md4 flowing through a wire for 1 minute. What is the charge flowing through the wire?
{(xv) Suppose you have a coil of wire and a bar magnet. Describe how you could use them to generate an
electric current,
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 =20)
Q.3 a Explain series and parallel combinations of resistances with diagrams. Find the expressions for
their equivalent resistances. {3+3)
b. . Water waves in a shallow dish are 6.0cm long. At one point, the water moves up and down ata
rate of 4.8 oscillations per second. (2+2)
i) What is the speed of the water waves?
i What is the period of the water waves?
Q.4 a Explain simple microscope with a neat and clean diagram. Also give details of its magnifying power
and resolving power. _ (3+2+1)
b. A power station generates S00MW of electrical power which is fed to a transmission line. What
current would flow in the transmission line if the input voltage is 250k¥ 7 (04)
Q.8 a Explain nuclear fission with diagram and nuclear equation. What is a nuclear fission chain reaction
and for what purpose its controlled and uncontrolled types are used? (2+2+2)
b. Explain the working of a cathode ray oscilloscope (C.R.0). What is function of electron gun,

deflecting plates and flucrescent screen in it? (04)

e 25A 1907 ON,
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